Best model for HELP_J143329.861+342514.801 at z = 0.497 )(2=2.08
OPTx?=0.64 IRY?=13.22 threshold (OPT IR)=11.98 [um]

102 : Stellar attenuated
fffff Stellar unattenuated
—— Dust emission

|:|] —— AGN emission
= Model spectrum

® Model fluxes

M oObserved fluxes

10!

10°

Flux [m])y]

I
=

T T T T T LA | T LA | T LR | T T EM
10° 10! 102 103 10% A
Observed wavelength [um]

=) E 1IN

Z 1 =

© 1 =f= (Obs-Mod)/Obs
3 ]

S ]

= 1 /\

] 0 e - N i ——— e ————————————————— -
o ]

(O]

2

p)

© T

(V]

[a'd



